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1 Вариант 

1) Выбери верные предлоги в скобках и обведи их. 

1) I like to go ( to / in) the cinema with my friends. 

2) I can see clouds ( on / in) the blue sky. 

3) His birthday is ( in / at ) September. 

4) WE don’t go to school ( in / at summer. 

5) My sister goes to bed ( in / at ) ten o/clock. 

6) The cups and plates are ( on/ under) the table. 
7) ( On/ In ) Saturday I play computer games. 

 

2) Заполни пропуски подходящими по смыслу словами из рамки. 

 

1) Peter loves  very much, he can ski in the park. 

2)  Children are happy to meet their   and teachers 

at school in autumn. 

3) April is a   spring month. 

4) The sky is  and blue in summer. 

5) spring is cold. 
 

6) It is not cold winter in . 
7) February is very short, but it has four . 

 

3) Выбери правильные формы глаголов в скобках и обведи их. 

1) Birds ( don/t / doesn’t) sing their songs in winter. 

2) He ( can / can/t) speak French, but not very well. 

3) I ( don’t / isn’t) live in Spain. 
4) In winter we ( play/ plays) hockey at the skating rink. 

5) ( Are / Do ) your parents at home at six o’clock in the 

evening? 

6) The crocodile ( have / has ) a long tail. 

7) We can ( see / to see ) a lot of birds in their nests in spring. 

8) Marry ( doesn’t / isn’t) have pets at home. 
9) Andrew ( isn’t / aren’t) from Canada. 

4) Прочитай текст и утверждения после него. Если утверждение 

верное,  то поставь галочку (), если нет - крестик (). 

Samson  Leningradov is a giraffe.  He is not very young,  he is twenty years 

old. His parents    are from Africa. He is dark brown and white. He 

is dark brown and white. He is very tall and strong. He  has a long tail. He 

likes  bananas very much.  Samson can run very well. He can jump. Samson 

doesn’t live in the wood.  He lives in the zoo. He is a Moscow giraffe. He 

Clear, winter, beautiful, early, India, friends, weeks 
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can see a lot of men, women and children by the cage. They like this giraffe 

and they like to some to the zoo. Samson doesn’t have a family now, but he 

has a friend, a grey cat. Its name is Masha. The giraffe and the cat play in 

the  morning, in the afternoon and in the evening. They are happy. 

1) Samson Leningradov is a giraffe. 

2) Samson is twenty years old.  

3) Samson likes oranges very much.  

4) Samson can run and jump.  

5) Samson lives in the wood.  

6) Children like a family.  

7) Samson has a family.  

8) Samson and Masha are not friends.  

 

5) Поставь  слова в правильной последовательности , чтобы 

получились предложения. Запиши их. 

1) Polly / at/ o’clock a. m / sleeps/ four- . 

2) Likes/ she / to eat/ apples- . 

3) likes / Betty / films / to watch- . 
4) in the morning / my / father / cooks- . 

5) like / they / to dance / every morning-  . 
6) How / are / old / you / ? 

7) Mother / my / cooks / in the evening  . 

 

 

2 Вариант 

 

1) Закончи текст, выбрав нужную форму глагола to be. 

The Browns 1)  ( am / is / are) very happy. Their son Nick 

2)    ( am / is/ are) ten today. It 3 )   ( am/ is / 

are) his birthday. His birthday cake with ten candles. 4) She 

   ( am / is / are )a good girl. She likes  to read books. 5 ) My 

name    ( am / is / are) Harry. I    ( am / is / are) ten years 

old. 6) Betty    ( am / are /is) five and Polly   ( 

am / is / are ) fifteen. 

 

 

2) Выбери нужные формы глаголов в скобках и обведи их. 

1) My mother ( cooks/ cook) in the evening. 

2) My grandfather ( have/ has) a big house. 
3) My parents ( help/ helps) my grandparents. 
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4) Fred and Mary ( like/ likes) to read books. 

5) Henry can ( play/ to play) ping- pong. 

6) London ( am/ is/ are) very old and green. 
7) Betty ( teach/ teaches) pupils in a school. 

8) Mary likes ( play/ to play) video games. 

9) May grandparents ( sleep/ sleeps) in this bedroom. 

10) My pets ( am/ is /are) a dog and a cat. 

 

3) Поставь  слова в правильной последовательности , чтобы 

получились предложения. Запиши их. 

1) Mary/ at/ o’clock a. m / sleeps/ four- . 

2) Like/ I / to eat/ bananas- . 

3) likes / Mary / video games / to play- . 
4) in the evening / my / mother / cooks- . 

5) like / they / to dance / every morning-  . 

6) How / are / old / you / ? 
7) Mother / my / cooks / in the evening  . 

 

4) Заполни пропуски в предложениях, вставь it’s или its 

1) Look at our new house.  roof is green. 

2) Where is the birthday cake? - on the table. 

3) This is an English book.   very thick. 

4) Look at my pet.   a cat with a long tail. 
5) What colour is your dog?  grey and white. 

 

5) Прочитай текст и утверждения после него. Если утверждение 

верное, то поставь галочку (), если нет - крестик (). 

Mark is a pupil. He is from Boston. He si ten years old. In the morning 

he is at school. The school is new. He likes his school. He  can read English 

books. He wants to speak Russian but he can’t speak Russian very well. He 

can sing Russian songs. He can run and jump very well. He runs with his 

dog Rex in the park.  Rex is big and strong. It is old but it can run and jump 

well. They are happy together. Mark has a nice bike. It is dark brown. Mark 

can ride his bike well but he can’t ride a horse. 

1) Mark is a pupil  

2) Mark is from London.  

3) Mark is at school in the afternoon.  

4) Mark can speak Russian very well.  

4) Rex can run and jump.  

5) Mark can ride a horse but he can’t ride a bike.  

6) Mark and Rex are happy.  

 


